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f General Instructions to Candidates :
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® There is a 'Cool off time' of 15 minutes in addition to the writing time
of 2 hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® C(Calculations, figures and graphs should be shown in the answer sheet itself.

® DMalayalam version of the questions is also provided.

® Give equations wherever necessary.

® [Flectronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. CPU has three components.
Which one of the following is the
CORRECT option?

a) ALU, CU and ROM

b) ALU, CU and RAM

¢) ALU, CU and Registers
d) ALU, RAM and ROM

2.  Which one of the following is
used to connect a projector to a
computer?

a) USB port
b) PS/2 port
c) Parallel port
d) VGA port

3. Choose a data terminal
equipment (DTE) from the
following options.

a) Bridge

b) Modem

¢) Router

d) Gateway

4. The small text files used by
browsers to remember e-mail id,

user name, etc. are known
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(1)

(1)

(1)
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If the binary equivalent of 56 is
(111000), find the 1's compliment
form, and Sign & Magnitude
form of —56 (negative 56) in
8 bits.

In an office, various kinds of
reports and account statements
are to be prepared. Name the
two types of software needed
and explain how they satisfy the

requirement.

The following are invalid
identifiers in C++. Write a
reason for each.

a) Id#

b) void

c) 2ab

d) avg hgt

Explain the operations involved
in the following C++ expressions
and write the output.
a) 5/2+3
b) (10%3)/2.0

OR
Write sample statements in C++
for the cascading of input and

output operators.
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10.

11.

12.

13.

Write four different C++
statements to add 1 to the value

stored in the variable Num.

URL string consists of protocol,
domain name and file name.
Write the name of a URL and

mark these three parts in it.

There are three looping

statements in C++.

a) Which is the exit-controlled
loop?

b) How does it differ from an

entry controlled loop?

Convert the number (198), , into

the other three number systems.

Write an algorithm to print the
multiples of 5 between 100 and
200 in descending order.

OR
Draw a flowchart to input three
and display the

numbers

smallest.
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14. Find the best match from

columns B and C for each item
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14.
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in column A. 3) BHOBETBEW MM io BEENBET . 3)
A B C
a) | "9" 1) Assignment operator 1) | Modifier
b | == ii) int 2) | Same as 9
c) | short iii) | Relational operator 3) | Constant
iv) | String 4) | Two operands are needed
following C++ program and give slsoonleel @O ORISR
a reason for each. & 66N O] 80600mMIMmyo
#include<iostream> 006N L.
namespace using std; #include<iostream>
int mainQ namespace using std;
{ int mainQ
int a; b; {
cin<<a<<b; int a; b;
a+b=s; Cin<<a<<b;
cout>>s; a+b=s:
3 3) cout>>s;
} (3)
16. List the three numeric data 16. C++oar oym’ myendle ewgo
types in C++ with an example for 9650|165 6891®] 806oomMImyo
each. 3) ©B0ADMEMo NAedh. (3)
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17.

18.

19.

Errors may occur in two stages

of programming.

a) Name these two stages.
Explain the nature of errors
in these stages.

b) The process of correcting
these errors is known as .......

Communication media is

generally divided into two —

wired and wireless media.

a) Give an example for wireless
medium.

b) Compare the characteristics
of three types of wired

media.

Internet offers a variety of
services and they are used
widely around the world.

a) One of these services
requires an address like
journey23@gmail.com. Name
this service and write the
reasons for the wide use of
this service.

b) Name the service which
provides a list of websites

containing information about

a word or a phrase.
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20.

21.

22.

Almost all services and business

are available online now.

a) Name the system that
facilitates money transaction
between buyers and sellers

in such cases.

b) Explain the infrastructure of

e-Governance.

Briefly describe the different
types of memories used in

computers.

Write a C++ program to input
the amount of sales and calculate
the discount amount based on

the criteria given in the table.

(1)

(3)

(5)

(5)

Amount of sale

Discount rate

25,000 and above

10%

10,000 and above,
but below 25,000

7%

Below 10,000

No discount

OR
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OR o YN
Rewrite the following switch 210168 e@os)Ewdesm switch
statement using if — else if sgyaoad@lem 1f — else if
statement : (5) 80 16@OUSla] ag)PioNes. (5)
switch (n)
{

case 5 : cout<<"Excellent"; break;
case 4 :

case 3 : cout<<"Good"; break;
case 2 : cout<<"Average"; break:
case 1 : cout<<"Poor"; break;

default : cout<<"Invalid";
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FIRST YEAR HIGHER SECONDARY IMPROVEMENT EXAMINATION JULY-2017

(Scheme of Valuation)

Subject: COMPUTER APPLICATIONS (Commerce)

Code No: 852

Qn. No

Answer Key / Value Points

Spii; Score

Total Score

¢) ALU, CU and Registers

1

d) VGA pert

b) Modem

Cookies

[ S N

N|IH|WIN|+-

1's Complement form  : 11000111 or 000111
Sign & Magnitude form : 10111000 or 1111000
(Number of bits need not be considered)

ey ol I =N ™

Word Processing software & Proper explanation

Spreadsheet software & Proper explanation

Name only without explanation: '/> + '/,

( Any justifiable answer like Operating System - windows,
linux, application s/w - tally, ms office,libre office etc can also
be considered.)

a) Id# : Special character
b) void : Keyword

¢) 2ab : Starts with a digit
d) avg hgt : Blank space

8.a
8.b

Division and Addition. Output is 5

Modulus and Division . Output is 0.5

(Valid explanations can also be considered)

Or

Input: cin>>a>>b;

Output: cout<<a<<b;
or statements like

considered.

(Any valid explanation of these can also be considered)

cout<<”Result = “<<r; can also be

%4

Num=Num+1 or Num=1+Num

Num+=1

Num++

++Num

(Any variable name can also be considered)

'2* 4

10

Any valid URL like http://www.dhsekerala.gov.in/index.huml
Protocol: http, https, ftp etc.

Domain name : www.dhsekerala.gov.in

File name : index.html

(Give full score if any of the two parts are correct/
explanation of URL can also be considered)

11.a
11.b

do ... while loop or do loop
Specifying the difference in the execution of the body with
respect to the condition

1+1

-_—

1+1

173




12 (198),= (11000110); =(306)s =(C6):s 1+1+1 3
( Steps only can he given '/, score each)
13 Start and stop 1 3
setting the first value '
looping logic 1
output o
( Give full score for any valid program/algorithm)
Or Or Or
Proper symbols 1
Proper condition setting 1 3
Proper flow 1
14 (@-iv- 3) 1
(b)-iii - (4) 1 3
(c)-ii- (1) 1
(Give full score for any 2 correct column match)
15 Line 2: “using” is not used in the beginning
Line 4: instead of “,” “;” is used before b’ Y2 x 6 3
Line 5: Wrong symbol for input operator(twice)
Line 6: 's' is not declared
Line 6: Syntax of assignment operation is wrong
Line 7: Wrong symbol for output operation
return 0; statement missing
Give full score for listing any 4 errors
Give 2 scores for listing any 3 errors
16 int e.g. 5, 20 etc. 1
float e.g. 2.5, 0.01 etc 1 3
double e.g. 0.00000005, 1.35344665 etc. 1
(char data type can also be considered)
17.a Translation/compilation and execution/runtime/testing 2+,
Explanation about Logical errors, Syntax error and Runtime 1+1 4
errors
17b  |Debugging 1
18.a  |Satellite , Radio wave, Microwave, infra-red or any—one 1
wireless media.
(blue-tooth, wi-fi, wi-max,li-fi can also be considered) 4
18b |Correct comparison of Twisted pair cables, Co-axial cables and 1+1+1
Optical fibre cables
19.a |e-mail and any 2 advantages 1:—2
Search Engine 4
19b |(namec of any scarch enginc can also be considered) 1

23




20.a

20.b

EPS (Electronic Payment System)

(any valid points like payment gateway, netbanking, e-banking,
or e-commerce can be considered. Names of payment service
apps can also be considered)

Correct explanation of CDC, SDC, KSWAN
(Consider fullforms also as valid point)

f N

1+1+1

21

Give full score for any 5 memory types/devices with explanation
Listing only '/, score each(max 2'/; scores)
Mentioning Primary and Secondary: 2 Scores

9, ]

1x5

22

Sl. No

Correct Program

Variable declaration : 1score

I/O statements : 1 Score
if-else if statement / logic  : 2 scores
program structure : 1 score

Or

Correct conversion statements / program
Correct condition setting : 1 Score
Use of if ... else if ladder / nested if : 2 Scores
use of else : 1 score

wr

1+1+2+1

Or Or
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